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Note 1 Flgure to.the right indicate full marks of the question

Q-1(A)
()

Q-1(A)

®

Q-2

2. Show working wherever needed

Define the Cost Accounting. Discuss the Merits of Cost ‘Accounting'in details. - . -
Discuss the Features of Good Wage System. , 07
From the following information calculate : o : 10
(1} Oiderlng Level (2) Maximum Level (3) Mlmmum Level (4) Average level
- Economic order quantity 48000 units

Mazximum delivery period 30 days

Average delivery period 25 days

Minimum daily consumption - 400 units

Average daily consumption . 800 units o
Write a 11ote on: (1) Cost Unit (2) Cost Centre 07

10

Adhya manufacturmg Co. Ltd. furnishes the followmg 1nf01mat10n f01 1,000 machlnes 18

duung the year 2017

" Rs.

' Cost of Materials- - 80,000
Direct Wages 1,20,000
Manufacturing Expenses - 50,000
Administrative Expenses 70,000

- Other office Expenses - 20,000
Selling Expenses 24,000
Sales 4,55,000

(1) The output and sales will 1,500 machines.
(2) Price of materials will rise by 25%. .
(3) Direct wages rate will rise by 10%.

wages.
(5) Selling expenses wﬂl mcrease by Rs.2 per umt ‘

‘All machines produced were sold For the year 2018 it is estimated that :

(4 Manufacturmg charges will i mcmase in proportion to combined cost of materials and

(6) Administrate expenses will be unaffected by the rise in output.

You have to prepare a cost shect for the year 201 3, showing the pnce at which
machmmy should be sold so as to earn the same rate of profit on sale as in the year 2017.

OR

)

(T




Q2

®)

- The following: particulars relate to Standard Company which has thlee productlon 17
- departments AB and C and two service depaltrnents Xand Y.

Q38

®)

Q-4(A) |
B

DISCUSS the lefelence between Manafrernent Accountlng and Cost Accountlng R : 10 s

Deﬁne the Budget and Budgetaty Control. Dlscuss the Ob_]eCtIVGS of Budgeta1y ContmI - 08 -

Departments , _
A B C X Y
‘ Rs, Rs.  Rs. © Rs.. Rs.
Allocated Ovelheads 6300. 7400 2800 4500 2000

The ccmpany de01ded to apportion the service department costs on the following %.

Departments
A B . (C X Y
s . Rs.~ Rs. Rs.. Rs. Rs ‘
X 40%  30%  20% - - 10%
Y : 30% 30% 20% 20% -
Apportion on the basis of Repeated Distribution method.
OR

Discuss the Role and Status of Management Accountant ' S ' 210

Wnteanote on: ABC Technlques S o ST 07

Bhatat Ltd p10v1des you the followmg information for an article manufactured by it.
Total fixed cost Rs. 1 ,00,000- '
' Total variable cost ~© Rs.l 60 0001{
Total sales - ' Rs. 4 00 000
Output and sales 40, OOO nmts.

. Ccrnpute the following:

(HP/vV Rat10 (2) BEP {Amount) (3) Margin of safety (Amount)
(4} Profit (5) Sales to earn a profit of Rs. 1 ,60 000
(6} Proﬁt earned at a sales of Rs.5,00,000

OR . 7_ |
Dlscuss the Advantages and leltauon of Budgetaty Contrcl 3 o _ o ;0

: DISCUSS the Ob}GCtIVCS and Assumptions of Ccst—Volume Profit Analyms._ - L .08;

(2>
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